


We know V g > V l. Using this information we can draw and identify both curves. At
the transformation pressure the gas and liquid are in equilibrium and can co-exist. If the
pressure is lowered the equilibrium phase is gas as it has the lowest molar Gibbs free energy.
If the pressure is perturbed upwards from the transformation pressure then the equilibrium
phase is liquid.

For H2O this transformation pressure is Pt = 1atm. If the temperature is increased the
transformation pressure also increases. Think about boiling water for cooking with no lid
on a pan. If you put a lid on the pan you increase the pressure and the water �nds a new
boiling point. That new boiling point is T > 100C

�
. Because G is a state function we know

that �xing the pressure and �nding the new transformation temperature will give the same
result as �xing the temperature and �nding the new transformation pressure. Therefore,
raising the temperature will increase the transformation pressure.
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